
Cardinal and ordinal numbers 
Cardinal     ordinal               

1 One    1st first 

2  Two    2nd second 

3    Three    3rd third 

4 Four    4th fourth 

5 Five    5th fifth 

6 Six    6th sixth 

 

90 Ninety    90th ninetieth 

100 Hundred    100th hundredth 

101 A hundred and one  101st one hundred and first 

221 Two hundred and twenty one 221st two hundred and twenty first 

1000 One thousand   1000th (one) thousandth 

2008 Two thousand and eight  2008th two thousand and eighth 

 

555,555 five hundred and fifty five thousand five hundred and fifty five 

555,555th  five hundred and fifty five thousand five hundred and fifty fifth 



Cardinal and ordinal numbers 



1/2  one half    3/8  three eighths 

1/3  one third    26/9  twenty-six ninths 

1/4  one quarter [= one fourth] − 5/34  minus five thirty-fourths  

1/5  one fifth    2  3/7  two and three sevenths 

− 1/17  minus one seventeenth 

3/17 ? 

 

Real Numbers 

−0.067    minus nought point zero six seven 

81.59    eighty-one point five nine 

−2.3 ·106   minus two point three times ten to the six 

−2 300 000   minus two million three hundred thousand 

4 · 10−3    four times ten to the minus three 

0.004 = 4/1000   four thousandths 

 [= 3.14159 . . .]  pi (pronounced as ‘pie’) 

e [= 2.71828 . . .]  e (base of the natural logarithm) 

Fractions (=rational numbers) 



decimals 

2.4  ‘two point four’ The period between 2 and 4 is 

known as the decimal point. 

 

If 100 is divided by 3, the quotient is 33.33.  

In spoken English this is, ‘thirty three point three, 

three recurring’. 

 

If 100 is divided by 3, and the quotient is written 

33.333 it is correct to three significant figures.       

If the quotient is written 33.33, it is correct to two 

significant figures. 



Arithmetical operations 
2 + 2 = 4  two plus two equals four. 

   two plus two is four. 

This arithmetical operation is called addition. 

The result of this operation is called the sum. 

‘if two is added to two, the sum is four.’ 

 

4 – 2 = 2  four minus two equaşs two. 

   four minus two is two. 

This arithmetical operation is called subtraction. 

The reult of this operation is called the difference. 

‘if two is subtracted from four, the difference is 

two.’ 



Arithmetical operations 

4  2 = 2  Four divided by 2 equals two. 

   four divided by two is two. 

This arithmetical operation is called division. 

The result of this operation is the quotient. 

If ten is divided by five, the quotient is two. 

 

4 x 2 = 8 Four multiplied by two equals eight. 

This arithmetical operation is called multiplication. 

The result of this operation is called the product. 

If four is multiplied by two, the product is eight.  



Arithmetical operations 

Q: If 10 is divided by 2, what is the quotient? 

A: If 10 is divided by 2, the quotient is 5. 
 

What is the quotient if 18 is divided by 9? 

If 90 is added to 10, and the sum is divided by 2, 

what is the quotient? 
 

If 500 is subtracted from 560, the difference is 

divided by 30, then 2 is added to the quotient, what 

is the sum?  
 

2922  64  4  (10+20)  3  

(32+17) x 2  (41-3)19  ((6-2)2)+96 



(2 − 3)·6 + 1= −5  
two minus three in brackets times six plus one 

equals minus five 

 

(1−3)/2 + 4 = −1/3  

one minus three over two plus four equals 

minus one third 

 

4! [= 1 · 2 · 3 · 4] four factorial 

Basic arithmetic operations 



Powers and roots 
42 : four to the power of two 

The subscript above is called the power or the exponent.  

Alternative way 

42 : four squared   52: ? 

 

46 : four to the power of six 56: ? 

52 : five squared   32: ? 

43 : four cubed   63: ? 

 

4-2 : four to the power of minus two  5-2: ? 

5-3 : five to the power of minus three  7-3: ? 

 

X-2 : the reciprocal of X2  y-2: ? 

X-3 : the reciprocal of X3  y-3: ? 



52 [= 5 · 5 = 25]   five squared 

53 [= 5 · 5 · 5 = 125]  five cubed 

54 [= 5 · 5 · 5 · 5 = 625]  five to the (power of) four 

5−1 [= 1/5 = 0.2]   five to the minus one 

5−2 [= 1/52 p = 0.04]  five to the minus two 

3 [= 1.73205 . . .]   the square root of three 
364 [= 4]    the cube root of sixty four 
532 [= 2]    the fifth root of thirty two 
 

62 = ?  

63 = ?  

74 = ?  

3−1 = ?    

8−2 = ?   

Exponentiation and roots 



Powers and roots 
1 2 3 4 5 6 

A 62 77 8-6 93 17-3 9217 

B 16-2 165 173-8 245 7214 566 

C 152 26-5 17-8 24-25 172-12 6-2 

249: square root of forty nine 
364: cube root of sixty four 
464: fourth root of sixty four 
575: fifth root of seventy five 
670: sixth root of seventy 

 

 



Technical Presentations DH 2005 

Algebraic expressions 



Technical Presentations DH 2005 

inequalities 

3 > 2  4 < 5  15 > 11  12 < 14 

4 > 3  7 < 9  24 > 14  45 < 59 
 

A  B  C  D  E  F   G  H 

Y  Z  X  Y  T  S   H  I 



Technical Presentations DH 2005 

inequalities 

a > 0  b < 0  c > 0   d < 0 

4 > ?  7 < ?  24 > ?   45 < ? 
 

a  0  b  0  e  0   f  0 

g  0  h  0  n  0   m  0 
 

a  2  b  5  e  3   f  9 

g  7  h  8  n  4   m  6 

 



Expressions of units 



Expressions of units 



Commonly used mathematical symbols 


